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QUESTION 1

Using Astra Control, which three steps must be completed to protect your Kubernetes- based applications? (Choose
three.) 

A. Set the snapshot retention. 

B. Set the snapshot schedule. 

C. Copy the protection. YAML file to the/etc/ directory. 

D. Choose the application to protect. 

E. Install the appropriate application agent 

Correct Answer: ADE 

 

QUESTION 2

As a DevOps engineer, you want a single tool that uses one automation language consistently across orchestration,
application deployment, and configuration management. 

In this scenario, which tool would you choose? 

A. Docker 

B. Ansible 

C. Selenium 

D. Octopus 

Correct Answer: D 

 

QUESTION 3

Your customer wants to use NetApp Trident to automate data lake provisioning on premises using a NetApp AFF array
in AWS using NetApp Cloud Volumes ONTAP. Their unstructured datasets will require 200 TB of storage, will be
accessed by hundreds of worker nodes simultaneously, and will have millions of small files in a complex directory
hierarchy. 

In this scenario, which Trident driver is appropriate for this task? 

A. ontap-nas-flexgroup 

B. ontap-nas-economy 

C. ontap-nas 

D. aws--cvs 
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Correct Answer: A 

 

QUESTION 4

You deployed a NetApp Cloud Volumes ONTAP system in your AWS environment and you need to activate the WORM
feature to secure them. In this scenario, which two statements are correct? (Choose two.) 

A. You can activate WORM storage on individual volumes; you do not need to activate WORM at the system level. 

B. When WORM storage is activated, data tiering to object storage cannot be enabled. 

C. When WORM storage is activated, data tiering to object storage can be enabled. 

D. You cannot activate WORM storage on individual volumes; WORM must be activated at the system level. 

Correct Answer: AC 

 

QUESTION 5

Your organization is adopting DevOps principles to deliver innovation rapidly. Which three methods support this
approach? (Choose three.) 

A. Automate processes as much as possible. 

B. Plan to reduce the blast radius of failures. 

C. Implement version control for code changes. 

D. Implement daily stand-up meetings for all team members. 

E. Allow more people within the organization to approve changes. 

Correct Answer: ABE 
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